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& ad ay-gieERT T @t

.y W 3G vE-gfEE § g & Y Ry e ow Pt § @

uft/Ta 39 - frweT W T F auT OMR I9-1 & wdl feew
IR TR W, S I UH T W A O G ), Fad s o
Hrer sfc-waige W A W

FE IR A TS R I wWE ¥ o, Iy I F g A
2| geh wmed Rprerd wenef < @)

. 5@ ww-gfEes § 150 wwive v e e # wdw Wl s

R 1 o ereifen Tt T § Wt Wk T IR ¥Y Ve o
W AN

. yE-gle au se-wa § Rl we w whiet @ 5 el

¥ i ¥8 1 f7@, I OMR IW-wa & Feaiww 8 fon
S|

wher guift % WA F9H OMR IH-93 TF TA-Y&F Hi Fax
9 diges B U ¥ IW-wE A FEA RS @ TH-gRe
qermefl oy W @ 1 oaRy §)

78 aH-yfRE ¥ fr ot e §

1. WR—1 e e ¥ o (1-80)
() wm=FE WA Ho 1-48
(i) TS Y gEly W e Y Ho 49-80
2. WW—2 FFYI FH AR TH T de  81-100
3. wm—3 anEe wdew W "o (101-150)
(i) H A 9H o 101-120
(i) v weeht F U o 121-150

11, IR = o A i i ¥, o S Wi W @yl A S|

10.

1. Part—1 General Studies

Immediately after getting the Booklet read the instructions
carefully, mentioned on the front and back page of the
Question Booklet and do not open the seal given on the
right-hand side, unless asked by the Invigilator.

Write your Roll No., Answer-Sheet No. in the specified
places given above and do your signature.

Make all entries in the OMR Answer-Sheet as per the given
instructions, otherwise Answer-Sheet will not be evaluated.
After opening the seal, ensure that the Question
Booklet contains total no. of pages as mentioned above
and printing of all the 150 questions is proper. If any
discrepancy is found, inform the Invigilator within
15 minutes and get the correct Question Booklet.

For each question in the Question Booklet, choose the
correct/most appropriate option out of four options given
below the question as answer and darken the circle
provided against that option in the OMR Answer-Sheet,
bearing the same serial number of the question. Darken
the circle only with Black or Biue ballpoint pen.

Darken the circle of correct answer properly, otherwise
answers will not be evaluated. The candidate will be fully
responsible for it.

There are 150 objective-type questions in this
Question Booklet. 1 mark is allotted for each correct
answer and ¥ mark will be deducted for each wrong
answer.

Do not write anything anywhere in the Question Booklet
and the Answer-Sheet except making entries in the
specified places, otherwise OMR Answer-Sheet will not be
evaluated.

After completion of the examination, only OMR Answer-
Sheet and cover page of Question Booklet are to be handed
over to the Invigilator. Carbon copy of the Answer-Sheet
and Question Booklet may be taken away by the examinee.
This Question Booklet consists of the following three Parts :

Q. Nos. (1-80})
(i) General Knowledge Q. Nos. 1-48
(ii) General Knowledge Related to State

Q. Nos. 49-80

2. Part—2 General Knowledge of Computer

3. Part—3 Aptitude Test

11.

Q. Nos.
Q. Nos.

81-100
{101-150)
(i) General Aptitude Q. Nos.” 101-120
(ii) Aptitude for Language Q. Nos. 121-150
In case of any ambiguity in Hindi version, the English
version shall be considered authentic.
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PART—1 / ¥m—1
GENERAL STUDIES / @MW e
(i) General Knowledge / 9T {H

1. According to Census, 2011 of India,

2.

3.

which of the following States has
very low percentage of literacy?

(A) Bihar
(B) Jharkhand
(C) Arunachal Pradesh

(D) Jammu and Kashmir

Visvesvaraya Iron and Steel Limited
is located in

(A) Bellari
(B) Bhadravathi
(C) Salem

(D) Vishakhapatnam

Which of the following is not the
station of Nuclear Power Board?
(A) Rawatbhata

(B) Kalpakkam

(C) Jaduguda

(D) Narora

1. 9d il SFOA, 2011 % ER,

ffeftas # @ form TS wERan &
yfewrd ae@ %A }7

(A) ToER
(B) FRGS
(C) TS Jaxl

(D) SHI-FHTHR

. Tt <-sema sram f8m 2

(A) ST H

(B) W& |

(C) uom &

(D) TommETIEH A

. Frfafaa § ¥ FR-w e F9 A8

T RYM & 27
(A) TEAATRT
(B) HeTaEmA
(C) Sggst
(D) T
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4. Which Bill(s) should be passed with

2/3 majority by the Legislative
Assembly?

(i The Resolution to abolish the
Legislative Council

(1) The Resolution to create the
Legislative Council

(iii) The Constitutional Amendment
Bill

(iv) The Government Bill

A) @

(B) (1), (i)

(C) (1), @), (i)

(D) @), @), (1), (iv)

If a Bill is passed by the Legislative
Assembly and sent to the Legislative
Council and in the meanwhile the

Legislative Assembly is dissolved,
then what will happen?

(A) The Bill will be considered by
the Legislative Council

(B) The Bill will be lapsed

(C) The Legislative Council can pass
the Bill

(D) The Bill will be referred to the
Governor

4. 58 fars @ @@ = 2/3 wgEd @

faum @ g wifta & =nfee?

(i) Taum giteg % Icateq & foe weaw
(i) Taum gfeg % gom % fore w=m
(ii) wifareaTe weie fdees

(iv) ITEERN %rz’ma:

A @

(B) (), (i)

(C) @), Gi), (i)

(D) (@), (), (i), (v)

. Ife uw fadues faum a3 aifd B9 W

faum uRwg 9= ST ok T S faum
w1 foefeq &t ST, a9 = e

(A) Tt w faum wieg grr fomm fen
Ll

(B) Tades =rwma g1 smem

(C) Taum uitwg fads + wiia = desdt
?

(D) Tage T=uTe =l Gefifa femn smom

SPACE FOR ROUGH WORK / % &M % folg wirg
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6. Which of the following is/are

correct?

(i) The President summons for the
Session of the Parliament.

(ii) The President can dissolve the
Lok Sabha.

(iii) The President can prorogate the
House.

(iv) The President can adjourn the
House.

@A) @

(B) (@), (i)

(C) @), @), Gi)
(D) (i), @), (iii), (iv)

. In Article 12, which of the following

are included in the definition of the
State?

(i) The Government of India
(i) The Parliament

(iii)) The Supreme Court

(iv) The State Government
(v) The State Legislature

(vi) The High Court

(A) (@), (i), (v), (vi)

(B) (i), (i), @v), (vi)

(C) (i), (i), (v), (vi)

(D) (@), @), @), (v)

6. Tfifaa § & #-w1/4 W 3/87

() TgEl g WA A A T
(ii) TEUTd TH QT 7T T Hehall B |
(iii) TEUTY Te T TAEE K FHaT B |
(iv) Tgafy e 1 T R aehar 2|
A @

(B) (), ()

(C) (), @), (i)

(D) (), (i), @), (i)

. ag=e 12 #, Frafafed & @ #R-8 T

&1 afearen 7 wfe fore e &7

(vi) 3= =TT

(A) (1), (i), (v), (vi)
(B) (i), i), (@v), (vi)
(C) (i), @), (v), (vi)

(D) (@), (@), @), (v)
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8.

10.

In Article 300 A of the Constitution,
which of the following is provided?

(A) Persons shall have the right to
property

(B) Persons shall have the right to
occupation

(C) Persons shall have to earn the
property

(D) No person shall be deprived to
his property save by authority of
law

Which of the following powers is not
given to the Governor?

(A) To say the Council of Ministers
for reconsideration on an advice

(B) To object on any Bill which is
passed by the State Legislature

(C) To refer a Bill for assent of the
President

(D) To dissolve the Council of

Ministers

What is the rank of Indian economy
in the world economy on purchasing
power parity in the year 20177

(A) Sixth
(B) Seventh
(C) Fifth
(D) Third

8. WfIuM % 1g=a3s 300 A # Ffafaa 7 4

10.

FT G 37
(A) =afts = Traf &1 TfRERR gem
(B) =afxh ol Ha@R T TSR BT

(C) =k =+ iy & 9 F R
o

(D) fret =afe = fafr & witer @
i 3udh gmfy @ afa w2 fen
ST

. Tefafes 4 @ FR-@ wfe o=@ =

& g 27
(A) Ai=uRyg w Rl dele | gARER &
o =g

(B) U= faurmves g utha fereht T
R AR =RE w7

(©) TFft fages =t upufa it wgufs &
fore wefia =

(D) "f=ufag =t i e

T8 2017 ¥ YRAE TTTEA T HH HA

itk a9ar % MUR R fava rfeyaen #
£

(A) Ba1
(B) @&t
(C) ureEt

(D) g™

SPACE FOR ROUGH WORK / T &M % fg sg
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11. What economic growth rate is
estimated at constant prices for
fourth quarter of the year 2017-18
in India?

(A) 72%
B) 77%
(C) 7-5%
(D) 6:7%
12. What net per capita income at

constant prices is estimated for the
year 2017-18 in India?

(A) 94,130
(B) &1,11,782
(C) ¥77,803
(D) ¥ 86,660

13. What is the contribution of service
sector estimated in gross value
added of India in the year 2017-187?
(A) 552%
(B) 72:5%
(C) 83%

(D) None of the above

11. 9a # af 2017-18 % =gd = &

12.

13.

fg fer fmdl = w= oenE g =
e Y

(A) 72%

B) 77%

(C) 7:5%

(D) 6:7%

aid o 9§ 2017-18 & o for Fimt w
w1 fags wfo =af® om sigmia & wh
37

(A) ¥ 94,130

(B) ¥ 1,11,782

(C) ¥ 77,803

(D) € 86,660

9§ 2017-18 # WA % wha A Atid A
T & T AFRH T 87

(A) 552%
(B) 725%
(C) 83%

(D) 39w & q +E
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14. When was Pradhan Mantri Ujjwala

15.

16.

17.

Yojana’ launched in India?

(A) May 2015

(B) May 2014

(C) May 2016

(D) May 2017

What percent of rural households
have  been electrified  under

‘Saubhagya Yojana’ till 16 January,
2018 in India?

(A) 55%
(B) 75%
(C) 78%
(D) 82%
According to the World Health
Organization (WHO), the disease

which causes the death of the
largest number of people today is

(A) AIDS

(B) Tuberculosis
(C) Malaria

(D) Ebola

Which of the

mismatched?

following is

(A) Best conductor

of electricity Silver
(B) Most abundant
metal Iron
(C) Most malleable
metal Gold
(D) Lightest metal Lithium

14. “Rd § ‘TUWHAT ISAA AT & AT

15.

16.

17.

Tf?

(A) W 2015
(B) W8 2014
(C) W& 2016
(D) =8 2017

gRa § 16 S, 2018 d&% A
AT % Fearia Toram fawa amfior &

o 7 T & g 27

(A) 55%

(B) 75%

(C) 78%

(D) 82%

fove @ee @1 (WHO) % 31g4R, a8
T SN 9aAE § waiie @@ § dm it
e 1 T §, B

(A) T®

(B) wufes

(C) Tt

(D) F&e

Fmferiea @ @ SA-w gafea 71 27

(A) Torga =1 waan wTe® i
(B) Waiftrs TRl 9T Al uig : WE
(C) wailees Emasd g : g
(D) =¥ goh! U1g : elifoem

SPACE FOR ROUGH WORK / T% &M % foTu sg
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18.

19.

o po oy

Match List—I with List—II and
select the correct answer using the
codes given below the Lists :

List—I List—II
Evaporation 1. Liquid — Gas
Sublimation 2. Gas — Liquid
Freezing 3. Solid — Gas
Melting 4. Solid — Liquid
Condensation 5. Liquid — Solid
Codes :

(A) a b c d e
1 3 5 4 2
B) a b (» d e
5 3 2 1 4
C) a b c d e
1 3 5 2 4
(D) a b c d e
5 4 1 2 3
Arrange the following electro-
magnetic radiations as per

decreasing order of energy :
(i) Infrared

(ii) Ultraviolet

(iii) Radio wave

(iv) Microwave

(A) (1) > () > (i) > (iv)

B) @) > @) > Gv) > (i)

(C) (iv) > (iii) > (i) > (i)

(D) (iii) > @v) > (i) > (i)

18. gfi—I & Th—1I & gafoa e @

19.

gt % f R T g2 F wEEa ¥ @@
I 1 I HINT
qef—I qE—1II
a. 9SG 1. @
b. FEAqaA 2. W@z
c. femm 3. 3™ > TT
d. e 4, 3W >34
e. I 5. 39 — 34
®E :
a) a b c d e
1 3 5 4 2
B) a b c d e
5 3 2 1 4
(C) a b C d €
1 3 5 2 4
(D) a b c d €
5 4 1 2 3
frfefad Agq graehe Tafon %t o= &
HZq wa # =afedm Hif
(i) AITH
(i) SO
(iii) e atm

(iv) YW T (HTEHIeE)

A) @) > () > @) > @)
B) () > (@) > (iv) > (iii)
(©) @v) > (i) > @) > @
(D) i) > @v) > @) > (i)

SPACE FOR ROUGH WORK / T %M % fo¢ S8
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20. The

21.

22.

major chemical compound
found in human kidney stone is

(A) urea
(B) calcium carbonate
(C) calcium oxalate

(D) calcium sulphate

Which one of the following is printed
on a commonly used fluorescent
tube light?

(A) 220K
(B) 273K
(C) 6500 K

(D) 9000 K

In which of the following
Upanishads, the theory of rebirth
has been propounded?

(A) Brihadaranyaka and
Chhandogya

(B) Isha and Kena
(C) Munda and Mandukya

(D) Aitareya and Tattiriya

20. HHa freft wall # ufl@ ger taERes

21.

22.

RUNERICIR

(&) fen

(B) Hfcam Hree

(C) Ffcm e

(D) T aethe

Fefafad & 4 ®H-91 & a9 ¥ @
T T S W18 W YR W g7

(A) 220 K

(B) 273 K

(C) 6500 K

(D) 9000 K

frafafea § ¥ fF Sufawel & gl &
frgra =1 wfeares forar w27

(A) FeerRvFE 3R BIET
(B) $w 3R 3w

() &M g

(D) 7 AR afedig

8210/ME-BMJ/RCE-M/7-D
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23.

24.

Match List—I (Bhakti Saints) with
List—II (Philosophies) and select the
correct answer using the codes given

below the List :
List—I List—IT
Ramanujacharya 1. Dvaitavada

Madhvacharya 2. Vishishta-
dvaitavada

Nimbarkacharya 3. Dvaita-
dvaitavada

Vallabhacharya 4. Shuddha-
dvaitavada

Codes :
(A) a b

1 3 4
B) a b

2 1
C) a b

3 4 1
(D) a b

4 2

w
- N Ao N

Female figures of yakshinis, yoginis
and apsaras had been carved out in
which of the following Schools of Art

in ancient times?

(A) Gandhara School
(B) Amaravati School
(C) Mathura School

(D) None of the above

23.

24.

g—1 (wfe @a) + g1 (37) @

gufea i w@ gl & R g 7 ge
H gErgar ¥ g8 9 T 9 HINT
HE—I HE—II
a. TAgSEE 1. §AdE
b. HEaERE 2. fafimsaar
. fraled 3. gagdeE
d. sguEd 4. JEaAER
R :
(A) a b c d

lon
O
o,

(B) a

[

(C) a b c

(D) a b C d

g o Fffaa § @ Fa wen Qe
T gfufel, SffE o et 6t Al
it 3% T A?

(A) TER A

(B) FuTad! el

(C) =ga el

(D) 3T | | &I TG

SPACE FOR ROUGH WORK / 6 %M % faT R
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25.

26.

27.

28.

29.

During the reign of which of the
following Mughal = Emperors,
European influence was manifested
in Indian painting?

(A) Humayun

(B) Akbar

(C) Jahangir

(D) Shah Jahan

In addition - to
Rajatarangini, who among the
following authors composed another
Rajatarangini? |

(A) Kshemachandra

(B) Rajashekhara

(C) Bilhana

(D) Jonaraja

Which of the following sects of
Sufism was founded by Bayazid
Ansari of Jalandhar?

(A) Nagshbandi

(B) Suhrawardi

(C) Shattari

(D) Raushaniya

Who amongst the following has
been selected for 2018’s Ramon
Magsaysay Award?

(A) Bharat Vatwani

(B) Sonam Wangchuk

(C) Both (A) and (B)

(D) T. M. Krishna

The first edition of Global Wind
Summit will be held in

(A) Germany

(B) France

(C) Britain

(D) India

Kalhana’s |

25.

26.

27.

28.

29.

Feffem & @ fr g Tevme &
TEHA H R e § dtg we
TRerida gan?

(&) g

(B) 3T

(C) IR

(D) wmESTRT

Hegul I TTRAN % fafes, Fefaie
U g dEs 3w 3w gaRA
T H?

(A) TS

(B) USRIE

(C) Toegm

(D) St

WA % SEhe el 3 ghEr %
Frafafea & @ fra v < s 7

(A) TaTed

(B) gewmawt

(C) YRR

(D) dmfs=m

2018 ¥ W HRY TR F foe = d @
Toraemt == fomam T 27

(A) SRd FrEaFl

(B) |FH ITgH

(C) (A) 3R (B) &

(D) Fo THo Fwom

AfREF T Fe B TR W uEen
T HET QMY

() S

(B) %

(C) forem

(D) R4

SPACE FOR ROUGH WORK / T% %™ % oY SR
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30. What is Hubble amongst the
following? :
(A) Satellite
(B) Telescope
(C) Missile
(D) Rocket

31. The 11th World Hindi Conference
will be organized in which of the
following countries?

(A) India -

(B) South Africa
(C) Mauritius
(D) America

32. Match List—I (Awards) with List—II
(Footballers) in respect of FIFA World

Cup, 2018 and select the correct
answer using the codes given below

the Lists :
List—I List—II
a. Golden Boot 1. Kylian Mbappé
Award
b. Golden Ball 2. Thibaut Courtois
Award
c. Golden Glove 3. Harry Kane
Award
d. Young Player 4. Luka Modri¢
Award
Codes :
(A) a b c d
3 4 1 2
B) a b c d
3 4 2 1
C) a b c d
3 2 4 1
(D) a b c d
4 3 2 1

30. ffafga # ¥ goa = 27
(A) 3SWr®
(B)
(C) Toremes
(D) Tehe
31. 113 fma <Y o = FEeA
frefefea § & fra 3w 3§ foran stmam?
(A) WRd
(B) Tf&oT 3ThieR
(C) wiEE
(D) WO
32. 6 fva #9, 2018 ¥ wed #, g1
(F@R) # 11 (Feaiar faergl) |

ghfera A @ gt & A= Ry T g
) TEEAT 4 F& IW H T RIS
qef—I TH—II
a. Teed T IS 1. SHioEe wEN
b. Tieed afdt ofaré 2. Toea sidsa
c. Meed Ted 3@ 3. A
d. T R S 4, o g
%
(A) a b c d
3 4 1 2
B)a b ¢ d
3 4 2 1
(C) a b C d
3 2 4 1
Da b ¢ d
4 3 2 1

SPACE FOR ROUGH WORK / % %M & fag i
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33.

34.

35.

Which Indian cricketer is included
in the list of ICC Hall of Fame,
2018?

(A) Sachin Tendulkar
(B) Sourav Ganguly
(C) Rahul Dravid

(D) Virat Kohli

Identify the wrong statement.

(A) Chlorofluorocarbon is respon-

sible for ozone layer depletion.

(B) Greenhouse effect is responsible

for global warming.

(C) Ozone does not permit infrared

radiation from the sun to reach
the earth.

(D) Acid rain is mostly because of

oxides of nitrogen and sulphur.

Choose the correct decreasing order
of the following with respect to
altitude from atmosphere :

(i) Stratosphere

(i) Troposphere

(iii) Mesosphere

(iv) Thermosphere

(A) (i) > (iv) > (i) > (@)
(B) (iv) > (iii) > (i) > (i)
(©) @) > @) > (i) > (iv)
D) (iv) > () > (i) > (i)

33.

34.

35.

go Hio o et 311% ¥H, 2018 H g
4 e i frke oot = wfmiRe
foram T B7

(A) e dgerR
(B) ¥ migeht
(C) Tgd sfg

(D) Torre wieeh

TeTd U W TR |

(A) FARGGAREET IS Wd &9 &
fore 3wRerh R)

(B) BTRa-T8 wvE (FHESE THH) TWEw
g % o IaErt 1

(C) 3o g ¥ geeft ok ot fafmor
! Ug=H T

(D) ¥ o1 F1 Y&T HW ARGOA T
ot % 3TTaTse €1

AGAISH | 918 *F gy § FEfiRaa

TE! Tedl A g

() WA

(i) ZrTERRER

(iii) HEEHERR

(iv) oATEHRR

(A) (i) > (v) > (i) > ()

(B) (iv) > (i) > (i) > (i)

(©) () > () > (i) > (iv)

(D) (iv) > (i) > (i) > (i)

SPACE FOR ROUGH WORK ;/ T &M ¥ fau smg
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36.

Amongst the following -polymers
which one is biodegradable?

36.

Frefeifaa sgerehl (WTefR) % 7 SHE-|
T Saeeh 77

(A) Polythene (A) iR
(B) Polystyrene B) TR f
(C) Terylene ©) ek
(D) PVE (D) dio o Hio
37. Fly ash is the main pollutant 37. TEA Y A Y1 ) e T 3
produced by
(A) cement industry (A) e e
(B) iron and steel industry (B) e T TEd JEm
(C) thermal power plant (C) ¥Hd U w1
(D) leather industry (D) e 3
38. Acid rain water has pH ranging from 38. T A 9 % pH 1 & Bl &
(A) 35 to 56 (A) 35856
(B) 80 to 90 (B) 80¥ 90
(C) 0 to 20 (C) 0¥ 20
(D) 7:0 to 85 (D) 709 85
39. The Biodiversity Act of India was 39. €Ug TN WA w1 99 fafowd e wiid
passed by the Parliament in the year T =
(A) 1996 (a) T 1996 F
(B) 1998 (B) =¥ 1998 ¥
(C) 2002 (©) = 2002 #
(D) 2006 (D) =¥ 2006 #
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40. Who among the following Mauryan

41.

42.

foo oo

Kings was known as ‘Amitraghata’?
(A) Chandragupta

(B) Bindusara

(C) Ashoka

(D) Dasharatha

To which of the following dynasties

of South India, Queen Rudrama
Devi belonged?

(A) Pallava

(B) Chola

(C) Hoysala

(D) Kakatiya

Match List—I (Dynasties) with
List—II (Kingdoms of Rajputana
during Middle Age) and select the

correct answer using the codes given
below the Lists :

List—I List—II
Gahlot 1. Marwar
Rathore 2. Jaisalmer
Kachwaha 3. Mewar
Bhatti 4. Amer

Codes :
(A) a b C d

3 1 4 2

B) a b c d
2 4 3 1
(C) a b c d
4 3 1 2
(D) a b c d
1 2 4 3

40.

41.

42.

freafafaes & @ 99w o e
‘SAftErETa’ % T\ @ SIET S on?

(A) ==TH

(B) fagar

(C) =1

(D} TIRY

THY T5HT <t <€famr wRa % frefifaa & 9
o TawT O grafea of?

(A) 9gd

(B) =

(C) = Ea

(D) hTeRel

TEH—1 (T57a9) 1 geh—I1 (Feqhrer &
TG & T5) ¥ gAl hive

gt % f= few T ge H gemar ¥ gd
IT R T HINT
Ef—1 Hefi—I1
a. TEAd 1. ARaTE
b. TR 2. SR
c. FSATEl 3. T
d. s 4, JAWR
e
(A) a b c d
3 1 4 2
B) a b c d
2 4 3 1
(C) a b c d
4 3 1 2
DMa b ¢ d
1 2 4 3

SPACE FOR ROUGH WORK / % %@ % fiu s
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43.

a4.

45.

Who among the following was the
leader of the Bundela Rebellion of
1842-44 in Bundelkhand?

(A) Chhattar Singh

(B) Dhananjay Singh

(C) Madhukar Shah

(D) Jagannath Shah

Who among the following presided
over the first All India Nationalist
Muslim Conference at Allahabad in
19297

(A) Dr. M. A. Ansari

(B) Abul Kalam Azad

(C) Khalikuzzama

(D) Rafi Ahmed Kidwai
Vallabhbhai Patel was the Minister
of which of the following portfolios
in the Interim Government of
1946-477

(A) Defence

(B) Railways

(C) Home

(D) Commerce

43.

a4,

45,

qeoEe § 1842-44 ¥ gean TR F Fan
Fefafaa & @ 29 97

(A) B fie
(B) ws T
(C) WY TME

(D) SFETY YR

1929 # TAEER § ARfE yom afaw
TdE e giem wen i stemea
Frmfoafaa & @ fee it A7

(A) €fo THo TWo TR

(B) TS HeM ARE

(C) Telig=m
(D) TH 37eHe forears

1946-47 6 AT THR T TZIAE 9
Frafafaa § & feg fawm @ W= 97

(A) &
(B) &d
(C) T
(D) aTo=a

8210/ME-BMJ/RCE-M/7-D
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46. Which of the following Passes is in 46. Ffafga & @ =F-w1 < Rafrs Soft

Siwalik Range? T 7 ,
:]3 ??b;r (B) &=
oji La
(D) Shipki La (©) Sirren
(D) Rden

47. Match List—I (Names of River) with
List—II (Origin) and select the 47. g1 (78 & M) N HH—II (357W) ¥

correct answer using the codes given ﬁ'&%ﬂ $ifvw gfE ¥ 9 Ry e
below the Lists : 1 gEraT ¥ 9E IR B T T
List—I List—II

a. Godavari 1. Mehad Lake e TE—1I

b. Krishna 2. Tryambak a. TMemEd 1. ﬁ’(ﬁ.‘%ﬁa

c. Cauveri 3. Coorg b. e 2. a%

d. Mahi 4. Mahabaleshwar c. 3. i
Codes : d. Hrdt 4. HEEATR
(A) a b c d %e

4 3 2 1 (A) a b c d
(B) a b c d 4 3 2 1
2 3 14 Ba b c d
(C) a b C d 2 3 1 4
2 4 ! . (C) a b C d
D) a b C d 2 4 1 3
2 4 3 1
D) a b C d
48. The main point(s) of the National 2 4 3 1

Population Policy, 2000 is/are .
48. TP sFEE Hifd, 2000 F1/% gEF fog

(A) to decrease the rate of infant

mortality HE

(B) the registration of birth and (A) f§'l‘=2\1 a?gataﬁ H ST
n;arriage 1 o (B) S Ud RETe &1 dsfim

" ducation to the children up 1 © 14 70 7 % a=i B e
14 years of age Tiggess Rvam o

(D) All of the above (D) Sy @t

SPACE FOR ROUGH WORK / % %M % foIg i
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(ii) General Knowledge Related to State / TSd ¥ HHid@ AW [H

49. The natural sanctuary of crocodiles

is
(A) Bhaisa Darha
(B) Bhoramdeo

(C) Pamed
(D) Udanti
50. Match the following (litterateurs of
this State and their works) :
a. Banshidhar 1. Tulsi ke Birwa
Pandey
b. Pyarelal Gupta 2. Hiru ke Kahini
c. Amritlal Dubey 3. Parra Bhar lai
d. Shyamlal 4, Prachin
Chaturvedi Chhattisgarh
Codes :
(A) a b c d
1 3 2 4
B) a b c d
2 4 1 3
(C) a b c d
3 2 4 1
(D) a b c d
4 1 3 2
51. Who amongst the following was the

musician of this State belonging to
Pt. Vishnu Digambar Paluskar
School and was the Head of the
Music Committee of Tripuri Session
of Congress in 19377

(A) Pt. Pachkod Prasad Pandey

(B) Pt. Kartik Ram

(C) Budhaditya Mukher;ji

(D) Kalyan Das

49.

50.

51.

TRA=S! 1 Jafileh TR B
(A) HERE

(B) WRA<E

(C) e

(D) Sa=ft

gafea Ffm (3@ =9 % afder @

a. SR UNST 1. gordl & faran
b. WRAT W 2. §® & Hled!
c. IYTAA G 3. W W AR
d. VW Sgadl 4. I 89T
¥E
(A) a b c d
1 3 2 4
B) a b c d
2 4 1 3
(C) a b c d
3 2 4 1
Ma b c d
4 1 3 2
WU F A # 8 #F-8 @ieeR
Yo fe] fover ugpea eht @ wafta & e

W 1937 & Hiw % Byl Altewm & wia
wiafa &% sreaw 47

(A) Yo USRS WHTE UTUSH
(B) Ho FHifdeh TH

(C) Fenfeea it

(D) el <

SPACE FOR ROUGH WORK / & %1 % g SFIe
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52. Which of the following is the folk

53.

54.

dance of this State entirely
performed by women and girls
specially on the eve of Diwali?

(A) Hareli
(B) Karma
(C) Panthi

(D) Sua

Which of the following is the answer
of this riddle—‘Punchi la Pani Piye
Moodi ha laliyay’ of this State?

(A) Snake
(B) Palm
(C) Lamp

(D) Star

Which of the following is not listed
as the most backward tribe of this
State?

(A) Paraja
(B) Kamar
(C) Birhor

(D) Baiga

52. 3 U % f=fafea § & F9-w1 degd

53.

54.

ey w7 @ daret & sEw W oguieEn
Afgenatt wa anferematt grr foran mar 27

(A) w&h
(B) =TT
(C) ueft

(D) gan

W T W A (Rel)—qH &
it TR, 7€t & efemm’ &1 S fafaRaa
T T g7

(A) Wi ‘

(B) &t

(C) femn

(D) aw/

Frfafaa # & fre 38 ws9 oo fisd
ST % €9 § gEEg, e foha mn 27

(A) TG
(B) FHR
(©) ferer
(D) <

8210/ME-BMJ/RCE-M/7-D
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55. Match the following (marriage
traditions of the tribes of this State
and their meanings) :

a. Paring-dhan 1. Marriage by service
b. Ar-uto 2. Marriage by paying
bride-price
3. Exchange marriage
4. Widow remarriage

c. Lamsena
d. Gurawat

Codes :

(A) a b C d
il 3 4 2

B) a b c d
2 4 1 3

Q) a b c d
3 2 1 4

(D) a b c d
4 1 2 3

56. ‘Sarhul’is the festival of which of the
following tribes of this State?

(A) Gond
(B) Korwa
(C) Oraon
(D) Maria
57. In which of the following regions of
this State, the lost-wax method is

adopted by tribes for creating metal
art?

(A) Sarguja
(B) Raigarh
(C) Kawardha
(D) Bastar

56.

56.

57.

Al AR (38 o9 Al SRt
Torarg TR SR 3 o) :
a. qiw-v= 1. Qo faams
b. W-IA 2. IY-ed a1 W faams
c. e 3. fafma faame
d. W 4. Ty widar
e :
(A) a b c d
1= 3 4 2
(B) a b c d
2 4 1 3
Ca b ¢ d
3 2 1 4
(D) a b c d
4 1 2 3
‘TEa W T H Fefafea § @ e
ST 1 =ER 27
(A) Tie
(B) wran
(C) s
(D) =rfe
3| T & ffafaa 9 9 59 &9 # uig
Fon & Fmior % fog sSenfedl g0 we-Tm
Tgfd 39S STl 87
(A) TS
(B) e
(C) waul
(D) F&R
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58.

59.

60.

61.

What is the estimated contribution
of secondary sector in the Gross
Domestic Product of Chhattisgarh at
constant prices of 2011-12 in the
year 2017-18?

(A) 2811%
(B) 36:68%
(C) 47-65%
(D) 35-20%
What economic growth rate of
agriculture and allied sectors is
estimated in the Gross Domestic

Product of Chhattisgarh at constant
prices in the year 2017-18?

(A) 2:37%
(B) 3-19%
(C) 5:46%
(D) 2:89%
What is the percentage of reserved
forest area in Chhattisgarh State?
(A) 43:13%
(B) 40-22%
(C) 4421%
(D) 23:38%
From which year, Prime Minister

Crop  Insurance Yojana is
implemented in Chhattisgarh State?

(A) 2015
(B) 2016
(C) 2017
(D) 2018

58. I¥ 2017-18 ® 2011-12 H fBR HHal

59.

60.

61.

R BAEE % HFd W I § fadios
& T AT IEH 1 R7

(A) 2811%
(B) 36:68%
(C) 4765%
(D) 3520%
THWG & FFa e SR H FME T

g &1 il feR fmal ® aniis iy w
a¥ 2017-18 § a1 gifa 6 R R7

(A) 2:37%
(B) 3-19%

(C) 546%

(D) 2:89%

TG U9 # AR a9 & 1 Fiowm
1 37

(A) 43-13%

(B) 40:22%

(C) 4421%

(D) 23:38%

et wae W G s T R
e § Ay A R R

(A) 2015

(B) 2016

(C) 2017

(D) 2018

8210/ME-BMJ/RCE-M/7-D
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62. What is/are correct about the Chief
Secretary of the State?

(i) He is the Secretary of Cabinet.

(ii) He is the chief adviser of the
Chief Minister.

(iii) He is the chief of all Secretaries.

(iv) He is the chief of all Civil
Servants.

(A) @
(B) (@), (i)
(C) (@), (@), (iii)
(D) (@), (i), (i), (iv)
63. The concept of State Administration

is found in which form of
Government?

(A) In Parliamentary system
(B) In Presidential system
(C) In Unitary system

(D) In Federal system

64. If the President of Zila Panchayat is

suspended from his office, what will
be happened?

(A) The Vice President will become
the President

(B) The Vice President will act as
acting President

(C) The Zila Panchayat will elect
officiating President

(D) The CEO will act as acting
President

62. T % g&a qiE & fowg # wdt w=n /87

63.

64.

(@) =% "tmvea % afE g R

(i) 9% GEAHA H GET HATEHR Bl 2 |
(iii) =€ Teft wfeEt o6 gRaan B Ry

(iv) T8 EE il daeht 1 gRan grar B
(A G

(B) (), @)

(©) @), (), (i)

(D) (1), (1), (i), (iv)

TS TIEA <h) raymon ford smee sgeen
7 qrf} STt 27

(A) HEET T
(B) ITAATHS Tl |
(C) THIeHS =Taeel |

(D) TS HERdT §

gz foren veRE w1 Ay R W ¥
feifea g sme, & =0 {m?
(A) UTETE, LAY T AW

(B) IUTEHE HEFH AW F T H wE
M

(C) el Yo TIMNE Ay w1 g
Haft

(D) &I HRUTH ARGR! FRER 19
F w9 T HF w0
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65. The No-confidence motion is passed

66.

67.

against the Sarpanch by the Gram
Panchayat. Where its validity can be
challenged by the Sarpanch?

" (A) Before the Tahsildar

(B) Before the Sub-Divisional Officer
(revenue)

(C) Before the Collector

(D) Before the Commissioner

What is the loan limit of project cost
for service industry under the ‘Chief
Minister Youth Self-Employment
Yojana’ in Chattisgarh State?

(A) ¥ 25 lakh

(B) ¥ 20 lakh

(C) ¥ 10 lakh

(D) ¥ 2 lakh

What percentage of electricity is sold
in industrial sector in the year
2016-17 in Chhattisgarh State?

(A) 36:28%

(B) 42:22%

(C) 37:65%

(D) 33:98%

65. UM UEEG IR G % TRy Almem

66.

TETE URE & | o TR amer sHeh
e s AR I wepen B7

(A) TEHITER % T9E
(B) gfewmia Tt (Ter) & wwg
(C) FFR F TN

(D) 3T % O

THEg o9 H g a1 @RISR
ASET F TG QAT I B RIS
T Y FOT-HT R

(A) ¥ 25 @@

(B) € 20 9@

(C) ¥ 10 @@

(D) ¥ 2 @/@

67. I TS ¥ a¥ 2016-17 ¥ Ml

&3 9 fooreht fosear =61 o wfrera B9
(A) 36:28%
(B) 42:22%
(C) 37-65%

(D) 33-98%

8210/ME-BMJ/RCE-M/7-D
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68.

69.

70.

In which year, the revenue income
from major minerals has declined in
Chhattisgarh  State during the
period 2012~13 to 2016-17?

(A) 2013-14
(B) 2014-15
(C) 2015-16

(D) 2016-17

How many major irrigation projects
of Chhattisgarh State are included
under the ‘Prime Minister Agriculture
Irrigation Yojana'?

(A) 5

(B) 4

€ 3

(D) 2

Who amongst the following is Family
Court Judge in High Court of this
State?

(A) Smt. Rajni Dubey

(B) Smt. Vimla Singh Kapoor

(C) Parth Prateem Sahu

(D) Gautam Chourdiya

68. T TsT # 9¥ 2012-13 ¥ 2016-17

69.

70.

# eafy # ygw wiist ¥ I T 9N
forg and =t 7

(A) 2013-14

(B) 2014-15

(C) 2015-16

(D) 2016-17

gursht F fEg dem % ewwla
o U9 B fRat vge e
gfeieFTd Ifie =t Wi 37

a) 5

(B) 4

) 3

(D) 2

T4 T & I= Aed 4 Siefl 1 % /6
s fom o § B €7

A) et W g
(B) et fomen fw wg
() el e A
(D) Thaw =RfEn

8210/ME-BMJ/RCE-M/7-D
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71. Antyodaya Express starts from Durg 71. ST I 39 T % 'g”f ¥ URY B

of this State and runs up to which 5 IR 9% Sl 27
city?

(A) Firozpur ) W

(B) Kolkata (B) e

(C) Hazrat Nizamuddin (C) T ﬁa’rg%ﬁ?
(D) Bhopal (D) st

72. For which area, Rajya Alankaran 72. 39 TG 6l TT AAHV] g'{'QZFI'{ o EECER]

Puraskar of this State is given on T & T W forg &7 % fru faa smar 27
the name of Dr. Khubchand Baghel?

(A) Women uplift (A) wien Seam
(B) Social awareness (B) WHTISIEh =IeHl
(C) Agriculture (C) P

(D) Literature (D) W

73. Who amongst the following | 73, fim & 4 3@ T~9 6 frm fgfa &t ‘o=

personalities of this State is qor WM | gene e R?
honoured by Padma Bhushan?

(A) Habib Tanvir (A) w= R
(B) Teejan Bai (B) e =g

(C) Satyadev Dubey (C) weed go
(D) All of them (D) 3ugw asft
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74. Who amongst the following Kalchuri

75‘

76.

a.

o]

Kings of Ratanpur in this State
defeated the Tripuri king Jaisingh

who invaded his kingdom?

(A) Ratnadeva II
(B) Jajalladeva 1II
(C) Prithvideva II
(D) Ratnadeva III

In which of the following years, the
first college—Chhattisgarh College
was established in this State?

(A) 1938
(B) 1940
(C) 1942
(D) 1944
Match the  following  (Forest

Satyagrahas in this State in 1930
and their leaders) :

Rudri-Nawagaon 1. Ramadhar Dubey
Tamora 2.

Narsingh Prasad
Agrawal

. Mohabana 3. Yati Yatanlal Jain
Pondi 4. Narayan Rao
Meghawale
Codes
(A) a b c d
1 2 4 3
B) a b c d
2 1 3 4
C) a b C d
3 4 1 2
(D) a b c d
4 3 2 1

74, W [T H WAR F FAGR I H

75.

76.

Frefeftaa & @ fora wmae 7 Bgh & wress
srfir it Wi frn Few 8% T )
shwor forar om?

(A) e T

(B) amg%aﬁ?ﬁa

(C) geehe facf

(D) I

Frafafas & @ fra o 4 30 o599 =1 9uw
TEfETeE—adE  ReTieee—eTid

fore TR an?
(A) 1938
(B) 1940
(C) 1942
(D) 1944

gifea Hifvre (38 T § 1930 # gL s

a. T-qamid 1. TATR go
b. TN 2. TYUg TGE WA
c. WEsA 3. Ifa Jaee S
d. di 4, IRV T AGER
®e :
(A) a b ¢ d
1 2 4 3
B) a b c d
2 1 3 4
(C) a b c d
3 4 1 2
(D) a b c d
4 3 2 1

8210 /ME-BMJ/RCE-M/7-D

SPACE FOR ROUGH WORK / T %™ % foig s7g

27

[ P.T.O.



77. Who amongst the following was the

78.

79.

80.

leader of a huge procession and
meeting at Raipur in this State on’
9th August, 1942 against the
imprisonment of Congress top
leaders in Bombay?

(A) Khubchand Baghel

(B) Ramkrishna Singh Thakur
(C) Treta Nath Tiwari

(D) Ranvir Singh Shastri

Tamra Ghoomar (Mayura) waterfall
is situated at

(A) Keshkal valley
(B) Vinta valley
(C) Dantewada

(D) Kondagaon

Tropic of Cancer passes through
(A) Sarguja district

(B) Surajpur district

(C) Korba district

(D) Jashpur district

According to Census 2011, the
growth rate of total population in
Chhattisgarh is

(A) 20-39%
(B) 22:59%
(C) 24'15%
(D) 2573%

77. S% w09 * 9Rg Yared h g F

78.

79.

80.

oy % 3@ TS0 ® TR # 9 IR, 1942
w TH o @ AR AW W A
Frfaftaa & @ foe foRam on?

(A) GEER Tod
(B) T fég BT
(C) ary R
(D) iR fé e

TSI~ (FRT) Siersand e @
(A) HIEHT TR T

(B) foman urt ®

(C) <darer |

(D) =ivemia §

e TR

(A) Tt e &

(B) TR forem &

(C) = fren @

(D) SogR forerm &

SHUAT 2011 % 3TJER, SUMTE § Fa
Sl - SR
(A) 20-39%

(B) 22:59%

(C) 24:15%

(D) 2573%

8210/ME-BMJ/RCE-M/7-D
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81.

82.

83.

PART—2 / Wi—2

makes easy to play game on
computer.

(A) Mouse

(B) Keyboard
(C) Joystick
(D) Pen drive

How many basic color cartridges are
there in an inkjet printer?

(A) 2
(B) 3
(C) 4
(D) 5

Which of the following is incorrect?

(A) The deleted files can be restored
from Recycle Bin.

(B) The free space in disc can be

restored by sending files to

Recycle Bin.

(C) A passage deleted from a text
can be restored right after the
deletion if the concerned file is
not closed.

(D) None of the above

81.

82.

83.

GENERAL KNOWLEDGE OF COMPUTER / &P &1 AT {1

FERRR W I Qe AWH @R

(A) W=
(B) =

(C) Sitafes
(D) T 3

ghore B o @ @it % WSt A @en

__ FdRR
(A) 2
B) 3
€ 4
(D) 5

= ® @ - ud T Re

@A) Tz wred fomesa i § fer &
Tend! B

(B) Hrgalt @ famgwat i % 994 R e
T Pt W R 2 aehar B

(C) Fret Toe @ fecfe o ™ W
=R 3 v 8, IR Refe @ &
T 916 WY e o< 7 8

(D) 3ud ¥ =iE T

8210/ME~-BMJ/RCE-M/7-D
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84. Fork is

85.

86.

(A) the dispatching of a task

(B) the creation of a new job

(C) the creation of new process
(D) increasing the priority of a task
By default on which page the header
or footer is printed?

(A) On the first page

(B) On alternative page

(C) On every page

(D) On the second page

Which function key on the keyboard
can be used to view slide show?
(A) F1

(B) F2

(C) F4

(D) F5

84. Fork H

85.

86.

(A) M WS

(B) 7T job T S

(C) 1§ Ufsham 1 o=

(D) 1 H NYHEHAT TG

13 fewiee form ™ m, T I 3, fe
el &7

(A) 98 99 R

(B) ThT 9H W

(C) W W

(D) T T

wEe M @ F g FE w1 FF-a
AT Y 9T B §7

(A) F1

(B) F2

(C) F4

(D) F5

8210/ME-BMJ/RCE-M/7-D
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87. Which of the following cannot be

88.

89.

920.

the part of e-mail address?
(A) Period () (B) @

(C) Space (D) Underscore

Yahoo, Google and MSN are
(A) Internet sites

(B) computer brands

(C) saturn rings

(D) the names of watch

The common name for the crime of
stealing passwords is

(A) spooling
(B) identity theft

(C) spoofing

(D) hacking

What is the maximum capacity of a
file which can be sent by G-mail?
(A) 20 MB

(B) 20 KB

(C) 25 MB (D) 25 KB

87. = % q F=-w -9 U = 9w A& A

88.

89.

90.

ghdr?
(a) fai=z ()
(C) &

B) @
(D) STSHR

Yahoo, Google 3R MSN ____ ¥}
(A) TR W2

(B) - HFIR S

(©) &

(D) 9 % 9™

TEaE T % WY & fow wm am
____®l

(A) wgfer

(B) *mgefRfR Iwe

(C) ¥

(D) 2

G-mail T S ST WA TN TH GIEA
6t ftrepan e = 37

(A) 20 MB (B) 20 KB

(C) 25 MB (D) 25 KB

8210/ ME-BMJ/RCE-M/7-D

SPACE FOR ROUGH WORK / % %@ % folt S

31

[ P.T.O.



91.

92.

93.

Press to delete any file
permanently without sending it in
Recycle Bin.

{A) Ctrl + Del

(B) Shift + Del

(C) Alt + Del

(D) Del

MPG is a file extension of which type
of files?

(A) Audio

(B) Image

(C) Video

(D) Flash

CD-ROM is a

(A) semiconductor memory
(B) memory register

(C) magnetic memory

(D) None of the above

91.

922.

93.

ferlt wrger @t TRl IR W Recycle Bin
T 9 foFT delete 7 & fot@ gamd)

(A) Ctrl + Del

(B) Shift + Del

(C) Alt + Del

(D) Del

MPG fFa TR & wRal # wEd
THEIM 27

(A) Tfem

(B) ¥

() dife

(D) W

CD-ROM ____ 3]
(A) UHIRUSTR AAI
(B) T et

(C) M= I

(D) 3T & & I T

8210/ME-BMJ/RCE-M/7-D
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94,

95.

96.

DVD refers to

(A) Digital Video Developer

(B) Digital Video Device

(C) Digital Video Disc

(D) Digital Video Data

Arrange the following search engines
by their popularity :

1. Bing

2. Yahoo

3. Ask

4, Google

(A) 4, 2,3,1

B) 4, 3, 2,1

C) 4,3, 1, 2

D) 4,2, 1,3

Where is the search engine BAIDU
from?

(A) Russia

(B) Japan

(C) South Korea

(D) China

94. DVD H

A) feforea difen Taow
(B) fefsren <fifea feargm
(€) el ifem fe=s
(D) feRrea difed =

95. T @ IH W I wfifg F egER

96.

LIS

1. Bing

2. Yahoo

3. Ask

4. Google
(A) 4, 2,3, 1
(B) 4, 3, 2,1
C) 4, 3,1, 2

D) 4, 2,1, 3

IS 5 BAIDU %l 9 87
(A) &9

(B) UM

(C) sfeqor Hifen

(D) <

8210/ME-BMJ/RCE-M/7-D
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97.

98.

99,

100.

What is EDP?

(A) Electronic Data Part

(B} Electronic Data Power

(C) Electronic Data Processing

(D) Electronic Data Personal

The term GIGO is related to
(A) accuracy (B) automatic

(C) flexibility (D) versatility

Laser printer belongs to
(A) line printer

(B) page printer

(C) character printer

(D) dot matrix printer

The pattern of printed line on any
product is known as

(A) OMR
(B) bar code
(C) OCR

(D) scanner

97. EDP &I 37

98.

99,

100.

(A) TR B ar
(B) TeieRIeh ST2T IR
(C) Seiereiives STer SR
(D) TR BT et

GIGO Y= 1 grrY R
(B) Eferd

(D) =HTahal

(A) g&a
(C) =i
¥R fX (Laser printer) _ ¥
Tt R

(A) e e

(B) W Tkt

-(C) PR et

(D) Tl AfeTq T

ﬁF@ﬁmmﬁé@mﬁ%ﬁzﬁaﬁ_
FEd gl

(A) 3o To Mo
(B) IR &IE

(C) 3o Hie HRo
(D) @R

8210/ME-BMJ/RCE-M/7-D
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101.

102.

PART—3 / 9—3
APTITUDE TEST / Qiddl udigur
(i) General Aptitude / W FRIET

Which of the following will be the
next figure?

2 C E 6 12
X X N [m
° 0) . ?
= 4 8 Dg k=910
Oy 16 o) 16
(A) (B)
14— 14—y
o 16 o 6
(C) (D)
14D—>y 14 M

If ‘TAN COPY MEGHA’ is coded as
‘215’ 3677’ ‘45781? then ‘TALK
PERMITED’ will be coded as

(A) 2123’ 75949254 ??

(B) 2132’ ‘75949254’

(C) 2132’ 75499254’

(D) None of the above

101.

102.

e @ 9 BF-w e o B
2 C E 12
X B ES J -
° ©® ?
o 4 8 Og k& 10
o, 16 o) 16
(A) (B)
14—y 14 XM
o 16 o 6
[ )
(C) (D)
14D—>m 145—4Ay

If ‘TAN COPY MEGHA’ =@
215’ 3677’ ‘45781’ VU, @& ‘TALK
PERMITED’ fe@ eerg g ?

(A) 22123’ 75949254’ ??

(B) 2132’ 75949254’

(C) 2132’ 75499254’

(D) 39tk # & g 7

8210/ME-BMJ/RCE-M/7-D
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103.

104.

In the following figure, rectangle,
square, circle and triangle represent
the regions of wheat, gram, maize
and rice cultivation respectively. In
which area, rice and maize are
cultivated and nothing else?

3
5 4 Az
/S 719
L1
(A) 9 (B) 8
© 2 (D) 7

See the following diagram and

choose the correct answer :

7)

Players

(A) Some boys are students as well
as players

(B) All players are not boys but
students .

(C) All students are not players but
boys

(D)
students

All boys are not players but

103.

104.

= foa o s, w01, g9 ok By wuEn:
g, T, SR AR @A B Wl % &
TR X €| Fh & § wEe R SR
1 it Erelt B, g Torelt ofR 1 T el

5
11
(A) 9 (B) 8
(©) 2 (D) 7

.

(A) TS e, BT 3 Ry IFT &

(B) @t Raerdl, gk & § wg W ®
(C) u+ht o, Raerel i & g T8 ®
(D) it ek, Raart €1 & weg B §

8210/ME-BMJ/RCE-M/7-D
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105.

106.

Above figure in the plane includes
(A) Cone, Circle, Cube

(B) Square, Triangles, Circle

(C) Cone, Square, Circle

(D) Cone, Square, Triangles

“If you have art of hypnotism, then
you may have lakhs of blind
followers.”

The most suitable reason of the
above statement is

(A) bring people forcely towards
yourself in hypnotism

(B) in hypnotism the self-
consciousness of listener made
ZEero

(C) magicized with the help of
. money

(D) use of supernatural power

105.

106.

\_/

Tt # Iwfe i aff e
(A) T, T4, =
B) =, By, 7
(©) ¥, =, I0

(D) ¥, =, B

“gfe oMy § TR wenm B, @ 39 ATl
3y Wk o9 b 81
ITYH FHUA H TS UYH HRV ¢

(A) wHHIET § Rl F TG TE ER
RICACIE|

(B) ®WiIed H g Tl 1 wieds
R

(C) & A a1re & WIg FA

(D) &=t wifeh =1 wRwT

8210/ME-BMJ/RCE-M/7-D
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Directions : The number of employees in | Fder : wr fifte wraf 6it afe o % sl &

four different companies in five years are | @ = €1 T8 2
given below :

af A B c D

Year] A B c D v | afeen | gev | fRer | gov| aften | gew| Afen

Male| Female |Malel Female |Male| Female |Male| Female

2004|200 | 400 |250| 450 |350| 400 (400| 450

2004(200| 400 |250| 450 |350| 400 |(400| 450
2005|250 | 150 |400| 100 |550| 350 |[550| 600

2005|250| 150 |400| 100 |[550| 350 |550( 600
2006|400 | 250 |850| 400 |350| 500 |(650| 450

2006/400| 250 [850( 400 |[350| 500 [650| 450
2007|650 | 400 [500| 150 |650| 500 |700| 600

2007|650 400 [500| 150 |650| 500 [700| 600
2008|750 | 300 | 600 | 350 [400| 300 [650| 400

2008|750| 300 |600| 350 |400| 300 |650( 400

Ik Rt T 3TEAT W H@N 107-111 1
Study the above table and give answer for | &7 W €|
Question Nos. 107-111.

107. I8 2004 # UWE WA §  AiEel

107. What was the average number of ) )
?
female employees in all companies =TIl i 3fed de o o

together in 20047

(A) 475
(A) 475
(B) 385
(B) 385
(C) 450 (C) 450
(D) 300 (D) 300
108. Approximately what percentage of | 108. mft auf & U *uft ¢ # = &0 a7
total number of male employees T Fiaiet # Fd & 98 2007 #
working in company C overall the ot wrfEt § % w0 T Fel HwIRE
years is to total number of e & ST 27
employees working in year 2007 in ’
all companies together? A) 41
A) 41
(B) 46
(B) 46
(C) 55 (C) 55
(D) None of the above (D) S A ¥ HIg A&

SPACE FOR ROUGH WORK / 1% &M & fou s
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109. In company B, if in the year 2005

110.

111.

the physically handicapped male
and female employees are
respectively 20% and 30%, then how
many handicapped persons are
there in company B?

(A) 90

(B) 100

(C) 110

(D) None of the above

Which company has maximum total
female employees in all the five
years?

(A) Company A

(B) Company B

(C) Company C

(D) Company D

What is the total number of female
employees in all the companies
taken together for all years?

(A) 7500

(B) 7700

(C) 7650

(D) None of the above

109. FFrl B H IR 9§ 2005 & fwe gow w@

110.

111.

Tfgen wH=REl %1 gfawd HHI: 20% qeT
30% &, a9 o B § fAvrr ST o g
fopat 27
(A) 90
(B) 100

(C) 110

(D) S9® # & 5 T

Tore Froft <t ofe ani & wieen swd=nfat
H T ae waifter @Y

(A) HU A
(B) ® 9 B
(C) =l C

(D) ¥ D

aft it % forg e weft wrafaE g wlien
FETREl 6 e fhah 87

(A) 7500

(B) 7700

(C) 7650

(D) 39tk # @ Hi3 7

8210/ME-BMJ/RCE-M/7-D
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112. Which of the following is not a | 112. g # ¥ 9-a @ER & fog ks
semantic barrier to communication? Ay AE 27
(A) Perceptual barrier (A) ST Ty
(B) Cultural barrier (B) w@;ﬁm STy
(C) Gender barrier () T Y
(D) All of the above (D) qu?ﬁgﬁiﬁ
113. Find the number in the blank space. | 113. @l WH § 9831 ¥d 6|
381524 3|8 |15]24
4 |10]18)28 4 |10|18|28
5 |12|21|32 5(12]21|32
7 ]14]24] 7 7 |14 (24| ?
(A) 36 A) 36
(B) 48 (B) 48
(C) 42 (C) 42
(D) None of the above (D) 39Yh A ¥ HIS A&
X x0-1 ) .
114. What is the value of 20007013 5 | 174, 0:005%018 o o o 47
0-65 0-65
(A) 0001 (A) 0-001
(B) 001 (B) 001
(€ 01 (C) 01
(D) None of the above (D) 39 § ¥ &5 T

SPACE FOR ROUGH WORK / & [ % o e
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115. Which of the following is different | 115. T/ % %W g @ = 27
from others?

(A) Whale &) &
(B) Bat (B) =
(C) Frog ©) *F
(D) Penguin (D)

116. What will be the next term of the | 116. 77 37ifha 2ioft o swrem U= = BFM?

following digit series? . 31 1 1
331 1 1 2727 10" 707
© 272’107 70°
1 1
A) = B) —=
a) — B) — 77 170
77 170
1 1
C) — D) —
(©) 1 (D) 1 © 770 (D) 17
770 17
117. 3vft

117. The missing letter in the series

B’ E? H, K, asey S B’ E’ H, K, sesy S

s EREGEICHIE
A) Q (B) J A) Q B) J
(€ L (D) P (C) L (D) P

SPACE FOR ROUGH WORK / % %@ & foit w8
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118.

The missing letter in the series
A,C,B,D,F,E,R, .., S
is

A M B) Q

€ P (D) T

118. =it
A,C,B,D,F,ER,..,S

H forgw e ®

119. Which of the following will be the
next figure?
2 c E
A B d
't
a 3 b D
G 7
(A) (B)
” F f
G 7
©) (D)
7 f F
120. Which of the following will be the
next figure?
D F C E 18
P
15
B 12 G H
I I : 21
(A) (B)
E 21 G E
1 I
21 21
\®) (D)
E G G E

(A) M B) Q
€ P D) T
119. = § 9 w9-a1 emen & Bm?
2 c E
A B d
?
a 3 b D
G 7
(A) (B)
S_F f
G 7
(&) (D)
St F
120. T § @ S-w men o @mm?
D F C E 18 D
?
B 12 15 G H F
I I 21
(A) (B)
E 21 G E
I I
© 21 D) 21
E G G E

SPACE FOR ROUGH WORK / T &M % T wg
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121.

122,

(ii) Aptitude for Language / WTST Gaeft Jr=ran

How many adjectives are there in
the following sentence?

I need to find a new car that is less
expensive to run than my old one.

123.

“The principal kept the staff
members waiting.”

Choose the correct alternative to
change the above sentence in
passive voice.

A) 1

(A (A) The staff members were kept
waiting by the principal.

(B) 2 (B) The staff members were waiting
for the principal.

© 3 (C) The staff members are kept
waiting for the principal.

(D) 4 (D) The staff members were being

Choose the correct alternative to fill

124.

kept waiting by the principal.

Choose the incorrect transformation
of the following sentence in ‘the

in the blank in the following indirect form :
EERICHCE & He said, “Keep the gate closed.”
The phone . Can you answer it,
please? (A) He told them that they were to
keep the gate closed.

(A) rings

(B) He told them they must keep
(B) ring the gate closed.

(C) He told them to keep the gate
(C) rang closed.

(D) is ringing

(D) He told them close the gate.

SPACE FOR ROUGH WORK / % &M & fou w7
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125. Choose

126.

127.

the
for

one-word
who sells

correct

substitute ‘one

medicines’.
(A) Collier
(B) Chemist
(C) Curator

(D) Lapidist

Choose the correct one-word
substitute for ‘belief in one God’.

(A) Atheism
(B) Pantheism
(C) Polytheism

(D) Monotheism

the word with
(according to

correct
British

Choose
spelling
English).
(A) Enginnering
(B) Enginering

(C) Engineering

(D) Engginnering

128. Choose the word treated as singular.

129.

130.

(A) People

(B) Cattle

(C) Scissors

(D) News

The masculine for ‘bee’ is
(A) drone

(B) drake

(C) vixen

(D) abbot

Insert the correct pronoun in the
blank space in the following
sentence :

The two children were waiting for
father to return.

(A) his
(B) her
(C) its

(D) their

8210/ME-BMJ/RCE-M/7-D
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131.

132.

133.

134,

‘Gidt areft arelt’ o8 e wR® &1 IeEwm
27

(A) i HH

(B) UYEH

(C) @sieT e

(D) 3TfereRtor R

“qg @13 T wW @ ¥ —FRa wdam W
I &7

A) Fears

(B) Fergares

(QIEPEICED

(D) TRETE®

ffafga & @ #R-w1 == T W
weteaTet w6 87

(A) B

(B) e

(C) STaeq

(D) =T

‘S YoREHT TR HAT & T T IR §
(A) ardt

(B) wferamdt

(C) wwamet

(D) 3tk & @ = T

135. ‘0TS TeT HE gerad & e ®

136.

137.

(A) et @ | R
(B) T TT SRIAT
() o waes T foram

(D) 3ug wft

‘= et fom urgad, TR o 90’ wErEa @
aef ?

(A) TR Tt & gE
(B) TR T GisHr
(C) FehuT B

(D) wfem 1 %e i

frefafaa # ¥ wded - 74 &
(A) fomt
B) g
(C) qae

(D) =1fim

8210/ME-BMJ/RCE-M/7-D
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138.

139.

140.

freafeafaa & @ odee def & @

(A) STt

(B) <t

(C) fogam

(D) wh

ffafas § @ s TR W W
ard weRdfa w0 T wdt faehew &1 ===
EAE L

() fafea &= & @

(B) uTcreft TR ST

(C) dar & w=ma & e BT 3R

(D) 3T H o ¥ o+ B

Freferfiaa ol § @ Tl awns ae @@
T Hivu|

(A) TW 7 mHT @ra Wed|
(B) 0 7 39 1% @ g a4 |
(C) # = 3N WY o TR TS IRA |

(D) TY & 319 q&1 & IR T T941 < |

141.

142,

143.

Frafafaa & @ sieor ooy wE
ITTET H-W1 7 87

(A) saEaEr
(B) sHHETIH
(C) WeE™

(D) GTaTEt

Frferfaa s wedt & ama I ot
fou e ¥ T @ TR = % Gy sE
Tera e feran gam 87

(A) g : afeh

(B) @4 : 9°E

(C) Fafes : oier

(D) <eu< : auqg=

fFrefafas o=t & 9 W Suwiyw a@d
WA e 1 = Hif)

(A) SETaET
(B) g

(C) =gu

(D) 9@

8210/ME-BMJ/RCE-M/7-D
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144, ‘SfeR1 AT e 1 3w R? 147. ‘o weg TG ey i ung & S R7
(A) 2T A (A) e i s’ g
(B) 3oy & ‘o’ a1g @
(B) TRUT & () wepa Y’ Wi @
(C) AT Wi (D) et et ‘A uTg |
(D) et 148, T % IMMUR W TR % J&Ia: fhad 98 qa
g7
145. ‘gt nieamr gEr o o1ef w37 A
B)
(A) E”iima:n ! (C) GICH
(B) s oft 7o 7 @ (D) =X
(©) T 149. ‘IFR w1 9 wfu-fode
(A) SA+ER
(D) fae=R e
(B) Sd+¥R
146. TG YR AMER 2, §AR ¢, & F FEAR (C) S+am
3 @t aref  ®Y (D) 3q:+8R
(A) Tgeh 150. ‘Aidl’ we fpw =t 7 e 27
(A) shfem
(B) & .
(B) Tgu fom
(C) & (C) 3w fm
(D) e (D) gfegm

SPACE FOR ROUGH WORK / 1 %1 & fau e
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2, I3 % IW Y T OMR IW-T51 T 2Afeha =i
3. TOF A W ¥ Y4 3 HIS S |

4, frdt ot T@ & Fapa A @ A W@ WeEA
®IF T T i R

5. OMR IW-9% & WaI F0 o U w
@Y 7 /s N q@ % A a1 3on 0
71 firerae anfe ug wY e ey 98 @0 8
i

gft 150 y¥i i 3ifoRa & 1 THE : 3Hw 3TfieRan o7 : 150
Time for marking all 150 questions : 3 hours Maximum Marks : 150
SET
e E
€T NOTE
1. This Question Booklet consists of
1. 39 yw-gfeqen 8§ e e am following three Parts :
T - S 1-80 1. Part—1 General Studies
( ) Q. Nos. (1-80)
(i) HE ¥ "o 1-48 (i) General Knowledge Q. Nos. 1-48
(i) TST ¥ GEia O g9 T o 49-80 (ii) General Knowledge Related to State
Q. Nos. 49-80
2. MTMT—2 P kI A JH
3 2. Part—2. General Knowledge of Computer
T ¥e  81-100 Q.Nos. 81-100
3. WMI—3  APFar ghev W9 Ho (101-150) | 3. Part—3 Aptitude Test Q. Nos. (101-150)
(i) am A g g0 101-120 (i) General Aptitude Q. Nos. 101-120
. .. ) . (ii) Aptitude for Language
i) T HaEh A g "o 121-150
() . ° Q. Nos. 121-150
S 1 30 Y| & Each question carries 1 mark. Al

questions are compulsory.

2. Indicate your answers on the OMR
Answer-Sheet provided.

3. % mark will be deducted for each wrong
answer.

4. Use of any type of calculator or log table
and mobile phone is prohibited.

5. While using OMR Answer-Sheet, care
shoulld be taken so that the Answer-
Shee:t does not get torn or spoiled due to
folds and wrinkles.
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